o
[N

0.15

<3 @> (rad)

o©
i

0.05]

................................................

-1 0 1 2 3

3 -2

TP n (PCA to beamline)

$0.08
8
00.06
Vv
0.04
0.02

-0.02
-0.04
-0.06
-0.08

...........

...........

...........

...........

_01

10

Ratl

0.8

0.6

-1 0 1 2 3

—=— DQM_original_step2__pt1000_etalp4tolp6
—e— DQM_mkFit_step2__pt1000_etalp4tolp6

—— DQM_pixelCPETemplate_step2_ pt1000_etalp4tolp6

<o dxy > (um)

=

o

<op/p. > (%)

-1 0 1 2 3

T 0 1 2 3
TP n (PCA to beamline)

10

<dd,>(um)

...........

...........

...........

3 2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


